BERNA

—_—
[—]

FHEKENE

BFAAEZER(EEER)

=
_ (G 2f10R1BHE)

E [BZF(PIR|TIR|MK|ZR|XE| & | A | &

E BN IEE|(LE|VE|DE|RF| B | & |

BB (BE| | B|FE B (BE| B | B | U

¥ |FE|FE|DF([RFE|DE|E =B =SB N

X ) & (= E|ITE|VEBRENIC £ £ | D] g =

T B |7 |F |E 2

% R | ) i

FF 4 4
BEXE 32 22 1 2 5 168 230
BEEITLZFKE 1 1
SIEEEKRE 2 113 115
AIEIREXE 19 19
SIS EEEILERE 1 2 3
R E K 66 66
HEBZEFIEREERKE 19 19
ERXZE 166 166
SEEEKE 18 18
REEUE K 26 26
RFEKXE 60 60
BREHKE 1 1
BHEEEREUHXRE 4 4
BEIXSEEMER 3 4 2 9
=) = 36 0 o| 26 1 4 7 o| 663 0 737
HEERZERXRHEERESIAN




